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1 N B FNICT~RI 21,300 (116%) 8A13H 28300
2 ' A EHEH FRBEICT~T &R 11.300 (116%) 8H11R 14000
3 EHR EE2 EAICT~KF 55,900 (115%) 8H11H 67,000
4 o EER e BEMIAT—~EEE 62,200 (113%) 8H11H 73,100
5 E2R A B~ R E B AT —h 19,800 (119%) 8H11R 27.300
6 EBR B BB~ EEREBER 22,100 (108%) 8H13H 25,600
7 s FBR S fll~fete 23,900 (119%) 8H11H 32,900
8 EHE g B~ T 40,900 (152%) 8H11R 51,600
9 HARR sk ERIRE~BA 59,300 (113%) 8A11H 70,300
10 HER-FRR E17 gesksen K E~5R 31,900 (128%) 8A11H 40,100
11 KR s B~ 38.000 (123%) 8H118 49,900
12 - BER EHE A ER B~ HOKBHR 50.000 (102%) EY:REE:] 65400
13 IR FER REBTITIAY | JIETBICT~BIERPA 56,800 (103%) 8A10H 65,300
14 IR w4 I~ KA 115.100 97%) 8H118 143,700
15 )18 WA s B~ LB 72.200 (101%) 8A11E 86,100
16 ETE o AAJCT~FHt 49,300 (107%) BH11H 60,800
17 B 4 B~ 46,300 (93%) 8H11H 59,700
18 -~ BER FEAE HIGE ~ B ASART—h 71.800 (106%) 8H11R 96,000
19 I 2 2L FBERE IR %A R~ T IkJCT 24,000 (100%) 8H13H 30,000
20 =T HdEE TEEE R~ )1 12,900 (84%) 8H138 17,800
21 HEE i ER~/\BTH 61.900 (112%) 8A11H 76,200
22 BIHE BEEE ERER~ER=F 11,900 (129%) 8H11R 17,100
23 BB KIRAF &40 KU JCT ~BHJCT 132,300 (98%) 8H108 157,000
24 i HER wiam PR~ 70,000 (93%) 8H11H 90,500
25 MRILE e e BN~ ET 17.600 (90%) 8H12A 23,700
26 EFR hEE I~ 1Bl 34,600 (116%) 8H11H 49,000
27 EFER g I~ 1L 35 5 5 62.800 (107%) 8H11E 71,400
28 NI hEE =REIOT~=R 16.800 (124%) 8H11H 24,600
29 FAILIE KT At~BR 17,200 (110%) 8H13H 24,100
30 = hEE 52 =mi F BT~ AS 8.700 (113%) 8H13H 13,100
31 N1 WigE BERICT~FEE 64,200 (11%) 8A13H 73,500
32 AR - ERL RIPSE TEA~FIEE 60,900 (115%) 8A11H 75,800
33 . mHE 57 e + A~ T 13,500 (106%) 8H13H 18,900
34 )i EAE EhEBR~KHE 33,300 (112%) 8A11H 43,200
35 =R ANE A~ HEE 110,600 (105%) 8R12E 124,400
36 M KHR K5 NE~ BT 20,300 (106%) 8H13H 26,300
37 HEARR A Sk~ 54,500 (113%) 8H11H 67,500
38 EFR #BE FT) e kmBrhE | AEBE~BRL 41,500 (102%) 8H13A 59,200
39 e T IR T B PR RB~EH 34,900 (112%) 8A11E 48,100
40 LBR-BES P £O0BH~K=5 13,000 (109%) 8H13H 18,200
BRERTY 44,100






